EARAROBEEIERT — 2 N— IBISH —F

2013%7H 138 (£) 5SEIEH3H

m C2= C2= #5%—M (xwlm | memml - |y ) oo mE
[A&4£] 1% :100,000 ™ ~ 23#&:25000M”  33%&:12,000 M  43%&:8,000H ~ 53 :5,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
R N FRREMER :28. 02— . — NHBE (FH)
lglgl 71o475-7 i 5 7 1(2_8)1 2-2-2-1 |41.5 1 (4_116) e
L:24-Y>y0-x B:e/FELFO-H A AR
2 = HEED :28. ~6-5- 5| — RER= EH)
ol7]7 X )LU=T—) 4 ik (172;371) 6-6-5-2 | 40.5 5 (4+338) ;EE%%
R:N—Y754 BR7OTLLA HEI77—L4
— BIRFE I : -4-3- — RAKX (BH)
3 L TEIHTS it 4 %3_0 1.(238).8 4-4-3-4 | 41.9 3 (4_321) o
LixLyiO-Urz B:iany-—Xx HAES
N w s LHIFE :29. -8-8- . - HefE— ()
4 o | XK S YNY o4 = 1 (229)2 8-8-8-7 | 41.0 4 (5;5) Hodl s
L:T7yv3Io—L BAVEANRTLT 1 BEHKS
5 6l KLRT7 717~ 46 ’E?J_Hi%— 1:(229).6 7-71-7-5 | 41.8| — 6 447 ;;;é‘%%m
2w T4—Y B:YII-FLZX (-1) HBET7— L
¢ )1 | 5 129, R A = BT ()
6111 AN v IVT A b s 55.0 (11 219/29) MR ? :??) [ R &
AL T7AT7 B:E2HAFTST— BESHD X VS
= = 4t 5 | THEX 1:30.3 1-1-1-3 | 43.8| — 8 420 | BREEMEE L (BH0)
715l5 | F05 417 A51.0 @ (o |ELET
RRK—2F%29d BLF-TLELR 3::Eve]
JIN— o6 | AR 1:30.5 5-5-6-8 |43.0 | — 7 455 | BfR— (SH0)
sl /N> 54.0 M g |HHAE
LTANVRTy Y2 BieA )y FE—X HBITr—L
® I —F—@EBIERL
13=zr= 5,8,1,4,3,7,6,2
Aol=5r= 5,8,1,4,3,7,6,2
G§a=7r= 5,8,(1,4),7,3,6,2
43—+ — 8,7,5,4,6,1,2,3
[ RN
B OB 8 100M4 714K 7-8 250M B E 7-8 670M &R 4-7-8 880H
8 B 8 100M 4-8 190 B H 8-7 1,910/ JEH 8-7-4 3,350
7 500H 4-7 510
4 130H4

ABICOVWTRDTEEERROODE. TR LIV,




